T B N 5 0

HBHZEF £20E0 MRT BHidhEk#H{HRAL
OH #F=RHaBEH : 1 %My ( E@H )
(1) 2-0 D
4£BH L 2 KX & b o ( =&W )
®8)2-1 D
I 3| B o [( =&H )
@) 2-1 D
HHE L 4 BR-BMRREE (HKES )
(72)5—I©
[ 5 HRERDPE ( BT )
353D
L 6B B b F( E@W )
@) 3-0 D
HE ——— 7T BB E h P ( SAE )
4) /3—3@
L S|EREBEXELE|( BEM )
(14) 1-0 @D
————— 9 B BB W R IR ( BEEM )
(5) 5-0 @D
=I5 RRF L 10| B XRBIREF|( SIERSE )
(10) IO—O@
[ 1M MRS EKR (BHRS)
(6) 3-0 D
558 127 % E ik (/HAEHE)
IR IRF ————— 3 EERAEFRE ( TOEE )
(7)6-0 D
- 14|EgHKERY|( ZBEE)
(77)5—/@
EIEERY

5E A B &R (ERBHE)

AH| ®B# Big | A& | &¥1E | AQ (=37 Big | A& | 555
" (1) 9:00 "
11:15 | > () 1045 | > E
~ <
1300 | y @ 475398 1230 | y (14) 4705398
1445 | 7 | awv 1415 | 7 | s
9:30 (4) %00 WF 9:00 s [EEE
11:15 [6) (6) 12/4 | 10:45 74 F TRy
& = FZA31-h
1300 | @ |[#izuL| @A) 1230 | A G i
12/3| 14:45 (10) [Z)| 14:15 ﬁfiﬂi(ﬁﬂi
EETEY
(+)| 930 @p (|00 MH 9:00 (13) |00 BIF3
[F)| 11:15 /4 7)) | TRy 10:45 /4 I 5
= F=23— =t {’_L’Z\\j
13:00 A A el 12:30 B J L
14:15
9:30 @ |[BORM[31] BB (TLRY) TIEBREE L
i_ﬂt_z FryFR—ILEBELNTEEEA
X
12200 | B TRy [E2) 12/4 #3000 38 TR S DL
13:45 b=LAl 1REEOTERSETITS (EF)

[38%) — EERKY 8-1©® £Bo

e | XRAE B Bki5 L WEH—F

A 13:00 ;mRA Kigdh 10-3 ® = RE &
ety B 12:00 _— BABAth 10-16  B#EES

C 13:45 * it 337 7-0 D [ESDpEE7

D 9:00 HRIEEH 4-1 @ &Kk

e 4 b

E 10:45 EEFE/NE 2-1® §2BAR
12/4 F 10:45 BAB#ER 7-0®D IR R IR
(/) G 12:30 ;A Bk 2-0 D H m%ke

H 14:15 BERHE (BHFEEXEERE)

I 10:45 ] Kz 3-1®@ EHES

;B
J 12:30 IR EE R 5-4 @ HRERH

p-2-4

T

53
Ll

1) AGE7EEEL. BROESFHEBREL LD
HIBREFRE X, 1007 Z28 8L T, HLLEIZFUVSEL,
2) HIEHI—HE, FTERGLET S (FMEROE=O)

3) XFHTRIADTEIX. 5l 1FEL. HITEIZE ZAmbiiLy

4) SEILIR7 REDGZEE. 3—ILRT—LLET B (XREBLEL)

5) BEKIRE (F40[E - X AKBF 5Bk, REILIE 2~3B8kET 5 (BRRERDT=0)

6) T34 LIE, TRk - R ELBEMETLET D

7) ERREOTERFBIOREL, UX2TIEBERALEFLEA

6) RABKIX. FTHEZT 2A—MELL ABTEBLET (XRBLERLED)
8) X BERBITLELA(SME ¥10,000FFH B ITELTLZSLY)
9)FIEHMERKAETHTF—LDORUFOBBIEIFTETT




